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                                                       Sarja ottelut        Cup ottelut       Maalit         Kaikki ottelut

# Nimi A + V = Yht. A + V = Yht. S C Yht. A + V = Yht.

1. Lucas Kaufmann 24 + 0 = 24 0 + 0 = 0 5 0 5 24 + 0 = 24

2. Esa Velakoski 17 + 2 = 19 2 + 1 = 3 3 0 3 19 + 3 = 22

3. Arttu Ståhle 8 + 11 = 19 1 + 2 = 3 5 1 6 9 + 13 = 22

4. Lauri Saari 6 + 13 = 19 2 + 1 = 3 6 1 7 8 + 14 = 22

5. Severi Huikko 19 + 1 = 20 1 + 0 = 1 1 0 1 20 + 1 = 21

6. Joona Tiira 18 + 1 = 19 2 + 0 = 2 12 0 12 20 + 1 = 21

7. Markus Metso 16 + 3 = 19 2 + 0 = 2 0 0 0 18 + 3 = 21

8. Joonas Puljujärvi 17 + 1 = 18 1 + 1 = 2 0 0 0 18 + 2 = 20

9. Matti Saari 15 + 2 = 17 3 + 0 = 3 8 4 12 18 + 2 = 20

10. Jasse Kivinen 16 + 2 = 18 1 + 1 = 2 0 0 0 17 + 3 = 20

11. Matheus Pereira 16 + 4 = 20 0 + 0 = 0 2 0 2 16 + 4 = 20

12. Teemu Kokko 16 + 1 = 17 2 + 0 = 2 5 0 5 18 + 1 = 19

13. Lucas Pessanha 16 + 3 = 19 0 + 0 = 0 25 0 25 16 + 3 = 19

14. Benjamin Bergman 7 + 9 = 16 2 + 1 = 3 2 0 2 9 + 10 = 19

15. Janne Kettunen 5 + 9 = 14 1 + 2 = 3 0 0 0 6 + 11 = 17

16. Miikka Leinonen 6 + 6 = 12 3 + 0 = 3 2 1 3 9 + 6 = 15

17. Kasperi Hirvonen 11 + 0 = 11 3 + 0 = 3 0 0 0 14 + 0 = 14

18. Janne Laiho 13 + 0 = 13 0 + 0 = 0 0 0 0 13 + 0 = 13

19. Onni Koivu 3 + 7 = 10 0 + 0 = 0 2 0 2 3 + 7 = 10

20. Antti Konkari 5 + 3 = 8 1 + 0 = 1 5 0 5 6 + 3 = 9

21. Juho Kunttu 2 + 3 = 5 3 + 0 = 3 1 0 1 5 + 3 = 8

22. Jesse Tuominen 5 + 1 = 6 0 + 0 = 0 0 0 0 5 + 1 = 6

23. Teemu Turpeinen 1 + 3 = 4 0 + 0 = 0 0 0 0 1 + 3 = 4

24. Joonas Huttunen 0 + 3 = 3 0 + 1 = 1 0 0 0 0 + 4 = 4

25. Sampha Kamara 0 + 0 = 0 2 + 0 = 2 0 1 1 2 + 0 = 2

26. Miika Tiira 0 + 0 = 0 1 + 1 = 2 0 2 2 1 + 1 = 2

27. Roni Rosenström 1 + 0 = 1 0 + 0 = 0 0 0 0 1 + 0 = 1

28. Tomi Saario 1 + 0 = 1 0 + 0 = 0 0 0 0 1 + 0 = 1

29. Timo Nieminen 0 + 1 = 1 0 + 0 = 0 0 0 0 0 + 1 = 1

30. Sami Lehtonen 0 + 0 = 0 0 + 1 = 1 0 1 1 0 + 1 = 1

31. Ben Turnbull-Smith 0 + 0 = 0 0 + 1 = 1 0 0 0 0 + 1 = 1

32. Christian Viitanen 0 + 0 = 0 0 + 0 = 0 0 0 0 0 + 0 = 0

33. Toni Räisänen 0 + 0 = 0 0 + 0 = 0 0 0 0 0 + 0 = 0


